Contractions Revision

The answers are all jumbled up below.

Expand these: Can't

1. ISH'T They'd
2. Wasn't

Was not
3. Can't

He'd
4, Won't

Is not
B. It's
6 Let's Doesn't

Shorten these: Itis

1. He had Cannot
2. They had

Will not
3. He is

Won't
4, Does not

He's
D. Cannot
6. Will not Let us

Are you an ace at contractions? YES/NO
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Answers

1. Isn't = Is not

2. Wasn't = Was not
3. Can't = Cannot

4, Won't = Will not
5. It's=Ttis

6. Let's = Let us

1. He had = He'd

2. They had = They'd
3. He is = He's

4. Does not = Doesn't
5. Cannot = Can't

6. Will not = Won't
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	2. Wasn’t______
	2. Wasn’t = Was not

